\$29 Theory of Deriv. . In Theory of the derivation

3> [(0x)+-(x)+1 ]>(0x)+x +2 TE34: troop ?  $\bigcirc$   $\chi_{b}$ 

•  $f = \frac{1}{a+b} \otimes x : \lim_{x \to a} \frac{f(x) - f(a)}{x - a} = f'(a)$ 

Thm: If + diff & x=a, then  $0=x \otimes t = 0$ 

P.f. Assume  $\lim_{x\to a} \frac{f(x)-f(a)}{x-a} = f'(a)$ . We prove:

043 xil ol. 3> [(a)1-(x)7] = 12 & E 3 Y tz & E 3 Y

We find the 5. Bit 3 Jest 1x-a/28, 3

 $\frac{|f(x)-f(a)|}{|x-a|} \rightarrow f(a) + f(a)$ 

|S| = |P-X| |(0)| + |1| |S|

Then  $|x-a|<\delta \implies |f(x)-f(a)|<\epsilon \nu$ Ex: f cont \$ + diff by f(x)=|x1.

Conclude: A diff function is more regular than a cont fr. survey it traw su iteory to prove Thy 0 + 8 g diff 0 x=a => (2) (cf) (a) = c f'(a) [i] | f+q)' (a) = f'(a) + g'(a) (iii) (fg)(a) = (f) q + fg)(a) (a)  $\left(\frac{2}{4}\right)'(a) = \left|\frac{3}{8}\frac{4}{4}\right|(a) = \sqrt{3}$ 

Thme chain Rho

Thme chain Rho  $\frac{d}{dx} + \frac{1}{2} \left( \frac{1}{2} \left( \frac{1}{2} \right) \right) = \frac{1}{2} \left( \frac{1}{2} \left( \frac{1$ 

Thm (a,b) Assume front on [a,b) (a) diff on (a,b). Then I x\* E(a,b) st

$$f'(x) = \frac{f(b) - f(a)}{b - a}$$

$$m = \frac{f(b) - f(a)}{b - a}$$

Main Application (Preview)

Needed to prive FTC

$$\int_{\alpha}^{h} f(x) dx = \lim_{N \to a} \sum_{h=1}^{N} F(x_h) - F(x_h)$$

$$\int_{\alpha}^{h} f(x) dx = \lim_{N \to a} \sum_{h=1}^{N} F(x_{h+1}) - F(x_h)$$

$$= F(b) - F(a)$$

f(x\*) Dx = F(xx+1) - F(xn)

f cont =>  $|f(x_m) - f(x_m^*)| < \varepsilon$  for  $|\Delta x| < \delta$ 

$$\sum_{k=1}^{N} f(x_k) \Delta x = \sum_{k=1}^{N} f(x_k^*) \Delta x + \sum_{k=1}^{N} f(x_k) - f(x_k^*) \Delta x$$

$$F(b) - F(a)$$
I

$$|I| \leq \sum_{i=1}^{N} |f(x_i) - f(x_i)| = \sum_{i=1}^{N} \Delta X$$

 $\leq \mathcal{E} / \mathcal{h} - \mathcal{A}$  (Uniform Continuity of f on [a,b])

Thus: 
$$E + (x_n) = x \Delta (x_n) + E = x \Delta (x_n)$$

The distance of the second seco

· Product Rule: 2(+8) = +19+18! P.f. We prove  $\lim_{x\to a} \frac{f(x)g(x)-f(a)g(a)}{x-a} = f'(a)g(a)$  religion Bit: f(x)8(x)-f(a)8(a) = f(x)g(x)+f(x)8(a)+f(x)g(a) f(x)  $= f(x) \left[ \frac{g(x) - g(\alpha)}{x - \alpha} \right] + g(\alpha) \left[ \frac{f(x) - f(\alpha)}{x - \alpha} \right]$  $\lim_{x \to a} \frac{f(x)g(x) - f(a)g(a)}{x - a} = f(a)\lim_{x \to a} \left[ \int + g(a)\lim_{x \to a} \left[ \int + g(a)\lim_{$ 

 $\lim_{x \to a} \frac{f(x)g(x) - f(a)g(a)}{x - a} = f(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} + \frac{1}{3} \right] + g(a)\lim_{x \to a} \left[ \frac{1}{3} + \frac{1}{$ 

Chain Rule:  $(f \circ g)'(g) = f'(g(a))g'(a)$ P.F. Assume g'(a) g'(a) g'(a) g'(a)  $(f \circ g)'(a) = \lim_{x \to a} \frac{f(g(x)) - f(g(a))}{x - a}$   $f(g(x)) = \lim_{x \to a} \frac{f(g(x)) - f(g(a))}{x - a}$ 

 $= \lim_{x \to a} \frac{f(g(x)) - f(g(a))}{g(x) - g(a)} \frac{g(x) - g(a)}{x - a} (x)$ 

Now: if g(x)-g(a) takes value zero in every  $B_{\varepsilon}(g(a))$ , then  $\lim_{x\to a} \frac{f(g(x))-f(g(a))}{x-a} = D$ 

It not, & holds and so

 $(f \circ g)'(a) = \lim_{x \to a} \frac{f(g(x)) - f(g(a))}{g(x) - g(a)} \lim_{x \to a} \frac{g(x) - g(a)}{x - a}$ 

 $\lim_{s \to a} g(x) - g(a) = 0 \Rightarrow f'(g(a))$